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General Instructions:

(i) The question paper comprises of 1 ree Sections, A, B and G=¥oudre to attempt all the
sections. :

(i)  All questions are compulsory

(it  There is no choice in any of the qu: tions :

(iv)  All questions of Section-A, Séction-B and Section-C are to be atterripted separately.

(v} Question numbers 1 to 3 in Section-A are one mark questions. Thes¢ are to be
answered in one word or in one sentence. v

(vi) Question numbers 4 to 6 in Section-A are two marks questions. . These are to be
answered in about 30 words each. '

(vii) Question numbers 7 to 18 in Section-A are three marks questions. These are to be

answered in about 50 words each

Question numbers 19 to 24 in Section-A are five marks questions. These are to be

answered in about 70 words each. ’

(ix)  Question numbers 25 to 33 in Scction-B are multiple choice questions based on
practical skills. Each question is < one mark question. You are to select one most
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appropriate response out of the four provided to you. )
(X)  Question numbers 34 to 36 in section B are two marks questions based on practical
skills, These are to be answered in about 30 words each.
(d)  Question number 37 from section C is based on Open Text themes and is of 10 marks.

Ym-31 / SECTION-A

1 A (Myg) SR Al Mg2+ ST & geiagil 1 e R
' ,// What is the number of€lectfons in Mg atom and My?" ion?

oIS 31wl st ¥ A AR A 2 s S B W A | oI aasd )

\ ppraise the use of this feature in these

g Protochordates possesses a notdefordfin Lyrval forms. .
animals ? - :

3/ it Sl ¥ SfET o B 39 smEnsd & w3 Gy W orewr | oftada | it dedt ¥ 1
Name the stages of the life cycle of a “wangd® imals which are affected by change in
temperature.

4 TR wftrer o RRER Sa= B R 7 v Cd o w0 w i wed € 2
What causes Japanese encephalitis ? How 11 . be prevonted™ \

- \

5/ o P g e W g A A I|ow et oA 0w ® am fafgy 2
When an object is immersed in the fluid naine the two torces acting on it?

) Frd 3 vhwe fafew) o qur faegs @ w2 8 9@ @ oy siae fafew fee o owd = s
SI F1 WS [ HWY
Define work. Write an expression for work in terms of torce and displacement. State SI unit of
work done.
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7,/ i (vireg), Fiw, Wi, w9 (e Bfzan a1 wmE & et W e

Write the chemical symbols of the fol wing clements : Gold, Copper, Potassium, Silver,
Platinum and Iron ’

8/ JEIEIEF 377 &t gfowme fafage) g7 7 @1 sz fafa)
Define polyatomie #on. Write two examplos along with their formulae.

- mﬂaﬁx,vamz‘ﬁaiaﬁmﬂmwﬁahm‘man{%:

#.4. T - '_IE ' Tp I N
Y. B

(1) X | 7! r o 17 18

1(@) Y L& y 17 18

) Z N Ty x

() X% TEIY] WA AG TN H ,, _
(ii) ﬁ ﬁ ﬂ m L2l m | A& ? 9 4 “"'ﬂ :

(i) xdwz § & wEy ¥ U wuer

The tally of the subatomic particies in at v« 154 " iy gV bow

S. No. Element Te Lo I

(1) X ﬁl—-?m ; 17 o 13__.

(2) Y 18 IR Y 18

(3) Z 17 T 20
Answer the following questions : -
(i) State the atomic number and mass nc. of X, .
(ii) Which one amongst the three is an 101 7 s it a cation or anion ?

(i)  What is the relationship between X 3nd Z ? Explain.
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~ 3 - qﬁﬁ‘:’lmﬁmﬁﬁm; TF UvE BRa (1894) awn fREER (1959) 3
il LA ® Y @ g e MG AYE IR fHET # oAEgd A JaaH
W%mmﬁﬂ?mmgr I HUHRET|
Carolus Liniaus gave the two kingdom classification. Later it was changed by Ernst Haikel

(1894) and in 1959, Whittaker gave the five-kingdom classification.

po you think that studying about the work done by carlier scientists or their obsolete theories
is useful for students of this generation? Give 3 reasons.

/}/ Sl % At T foi &, fer o =w v A w faen fa s & fefae 3
' T 1 A T fatE)

Write four conventioniwhi€h asé followed while writing the scientific names of organisms.

Wrrite scientific name of tigér.

12 280Hzmﬂﬁﬁﬁiﬁgq..ﬁai::n:‘i'?'n:fﬁﬁzomﬁﬁ{ﬂﬁ?ﬁami’m 3
mﬁmmﬁm7m§ﬁ§a‘i‘: ;1_.?;, 140 ms-! B

How many vibrations will a tuning for . % .« 'y 280 Hz complete durng the time
sound travels forward in air by 20 mg® . ¢ 3 ! Jfsound in air as 3490 m/s.

13/ T B ¥ 150 Hz smqfa A a0t s <0 gy A oame ¥ e T SRR (a)
TRA (b) 3mam AW () AN, A W

>

N
VAR

Waves of frequency 150 Hz are produccd in a stnng. Find the

Wave density or Press &
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(a) wavelength, (b) amplitude and vel ity ol the waves.

14~ T Y F =0F ¥ O a9 A DG w0 TOE A FE TohAD € Ifz & @ Tmifed @ g 3
Hqﬂﬁﬂl

Is théF€ any fechnique to detect cracks ai
labelled diagram. _

" flaws i a block of metal. If yes then explain it with

? mﬁﬁﬁﬂ?ﬂﬁiﬁwﬁ’wa w7 fe wE WA FR 8

State three charac-teﬁstics of a music  sound On what factors do they depend.

- %9
15!

16 waft & wes ¥ smgfy, wingdA g wat e v

With reference to sound wiat do vou me by 1o iency, wavelength and echo.

/ ﬁrﬁmmﬁmmﬁmﬂi’*;;:- i o wframw € w0 fafgw)

The overuse of fertilizers and pestici el gl 1 the soil Why ?

}9/ @ I @D fafiral ¥ forrle g g H 1 g “attwnre ' fegt’ Bl )
(b) T T o gz g oo b St e g k2
(a)  What are the two ways by which «. -bon s aide 15 "ﬁ.ged" in our atmosphere.

(b)  Which gas is produced when gluc mole. ule breaks dowméleasing energy ?

w’/irmﬁé BN yRfn  witas Wi % yqa mmif.*"m TR =iy
. N, 9T g WEfad wiee | fFe WoR v a2

Describe  the  essential features of the model of an atom proposed
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E Rutherford. How is it different from that proposed by |, J. Thomson.

' d . “mmﬁm%mﬁ‘ﬂ’ﬁﬂtﬁmumv%ﬁrm ﬁ'ﬁmﬂﬁ,%ﬁmmm%aﬁﬂ:@ﬁﬁ 5
%““Wm ¥ X Wea =fwm & favn F ava £ @ a9 wewa §7 2 el 9
feaqoft #iferd

“When we think about health, we think about community, but when we think about disease,
we think about inflividual sufferer”. Do you agree ? Comment with two examples.

2 IR arffaord fig swdm fee o3 @ 3 cfvase yefae S ) = @ smafd S
Mﬁﬁmmm|mk qitan 4 o Wit @ & i gl %
i & ferg Iwim fRE e sifime i @ fen @ i 2

Propose three examples of chafactefistics used for hierarchical classification. Based of these,
develop the definition of charaCterisfics Why the characteristics of body design used for
classification of plants is differentffom those used for « lassifying animals ?

zz/ F W w1 fraw =E F m zemad ¥ VTl F REM IR R AR h R I S
% IV W IS Wl & W 9@ 5w o = rmpq T F frm e i

State law of conservation of energy. Proviie the Liv of fservation of energy taking place when

a stone of mass m is thrown vertically { v 11 .0 5 omgheight h metres and attains a speed
of v on striking the ground. |

23 T F IR 3w werdtg qa fati
INRTF w7 F TRV A g et

Ma}amﬂnmﬂmg,mﬂoﬁg 4 a4 0 0 g 8139 AW AR F omifs v
i Fifig

_Deﬁne density. Give its mathematical form
Deﬁne relative density. Give its unit

A solid weighs 80 g in air, 68 g in water and 60 g in oil Calculate the relative density of oil
and solid.
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,?Jf (a) Wﬁ‘l L] AT 9% A RF foo ST B T THEE
15 1Y 3N I 1 3

i

(b) myﬁﬁ:mgmﬂ'mm ¥ U feaTt T ¥ 3% 3z fET TR
TF I 599 e Q 7 R qgae
ﬁ'aTﬁm STt €2 \ \

(a) Draw well labelled diagram of oy rencvele in nature ;nd explain iz

b E
(b) xplaift in how Jany ways O, i+ used up from the atmosphere and how it returns
back to atmosphere ?

7}/ WTI-% SECTION - B

25 Tl an A i aded m-g w—-.; = 1
@) T o

(b) s wre feaf w e e $4 S

(c) 3Tt mme feafrdf w5 v o s w gmq.m * ¢

d) SRR I w5

Ina sound wave whichis longitudis ./ w. i H!unmﬁum

(a) Move in a direction perpend: ular * 1w Jrection of ;wup.;.&m of wave,
(b)  Vibrate about their mean position- 1 the direction of waves

()  Vibrate about their mean position.. |~ ‘rpendicular to the dnuﬂou o v;ave
(d)  None of these

6 = .
. X 15 kg TN & Wit o fermat fan 7 10cm x 15cm X 5cm @ R w v am ¢ Ny 1
T W A WO ¥ s 2T v @ e e mm am f

(a) 10000 Pa (b) 20000 Pa

Generated by CamScanner



(©  15000Pa (d) 30000 Pa

A metallic
o cuboid of mass 15 kg and dimensions t0emx15¢m x 5em is placed on ground which
Pressure on its surface. The mininum pressure which the metallic cuboid exerts on the

ground is
(@) 10000 Pa (b) 20000 Pa
()  15000Pa (d) 30000 Pa

ﬁmrﬁﬁmm{méwmmn AR Haf| B ¢ 9w =i a= + §evg G
T T 2 m%m

(@) nt(B)n2t () t/m (d) t/nz

A pulse moves 'n' times tO and fm md Lim stop watch shows time 't' seconds. The time period
of pulseis : -

(a) nt (b) n2t (c) t/n (d) ¢t/ n2

28 o et 3 o T W v g e %wwaﬁaﬁ; 1
(a) FORIRe ofea oAl w1 w1 (b o F o0 F HR) '
) wAmgTamem§ (g ‘"*w u{";q e form ¥
/ A student identified a specimen as mushu o : b ,ga on W huh he has identified this is :
/’ (@)  umbrella shaped with chlorophy!! N\
(b)  umbrella shaped without chlorog .|

()  ithasroot, stem and leal.
(d) ithas mpsule atits tip.

29 T Tt affen § mEgee W oo s dlaiter b o A xmmmwm 1
d aﬂws{qmta ofe gerar g W P ae =‘T*n’5maﬁlmq%w

QAT BN ?
(@ H=1 O=1 () H=20-=2
) H=40=4 (d) H=1 0=2

In a chemical reaction, one molecule of hydrogen combines with one molecule of oxygen to
form one molecule of hydrogen peroxide. If the law of conservation of mass is correct, what
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will be the number of atoms of hydroge: nd oxvien at the product side ?
(@ H=1, O =1 b H=2 O=2

() H=40=4 d H=1 0=2

30 Wﬁﬂiwﬁm‘iﬁmﬁma‘!wvmﬁ?’{Tﬁ%{%{&#@fﬁﬂﬁmm%aﬁﬁﬂq? 1

(a) mmmﬁaﬁ
(b) T v g
@ g s
(d) Fer g w faw

A chemical equation is always balahced ! :ulfl the conditions of a law, which s :
(@) Law of conservation of mass ‘

(b)  Dalton’s atomic theory

(<) Law of multiple proportion

(d)  Law of definite proportion

P 4 wiferenrag e s #- _ . 1
(a) T W (b) TR F () 72U H (d) “rH

Reticulate venation is seen in :

(a) Maize (b) Grass (c) Pea (d) Onion

2 sieg A Tt oK et @ 5 rE 31 T R ok a P B B R O1
A s o B R

(a) SIS - THAATH TR
(b) SrgETaR— TS IRy
(©) SIS — QRIS R
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(d) ST eR—fidtorst =Y

Mmdh compared the flowers of a monocot plant and a dicot plant anc
bisexual flowers are characteristic of :

(a) angiosperm-monocotyledonous plant.

1 concluded that

(b) angiosperm-dicotyledonous plant.
(c) gymnosperm-monocotyledonous plant.

(d) gymno‘spemi'-d.icotyledonous plant.

V{ mmﬁmﬁaﬁté—;ﬁmﬁm<.>a¢m el At B 1
t (@ =T . by @

(© R ” v (d) @

The stage in the life cycle of mosqu;to which appears like a comma () is :

(3 Adult : (M Pupa

() Egg A Y

3V mmﬁmwﬁmm%mﬁmmiﬂﬂw wr.ththmm\ 2

State two fattors on which the amount of weigin 170 xbod) in a given liquid depends.
.F/,./ "
35 afe 7x feet 3 & arged 3w A gl o s o 4 i n‘ zsli rm R % AW W GIE 2
sen el -

If we want to determine volume of a solid by immeising it in water, whit kingd of solid should
we choose ? ¥ 4

36| o ¥ TN vE F ¥ e § 2

What are the functions of tail fin of fish ?

"1- § /Section - C
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(* Please ensure that open text of the given theme is supplied with this question paper)

Theme-I (Clean Air-A shared Concern): (5+5)

(a)

(b)

(a)

(b)

N srgre & R ST R S on i e fafae e A W g w1 W
@ A ¥ s T R wews efte F 0 TatE B e F 9 o w e
YR HASTE T ql @ 7

feq T 4 e @ o By e o A W TR W At @ R
I au i FEAE w1 e GEd SO, 3R NO, #t affs & §a8
s 31 s Gwiied Ao fatae =07 33 agEe w9 'R fata

“What can’t be cured mdstbe eniured  How will you correlate this to tackle the
contamination of air withnd€ir i le ga-s and particulate matter ? How the people

are sensitiz€d _ towards environmental
- 7 %
protection ?

Look at the status of ambient air q\.a;  gf Rew metropolitan cities of India in the text. Identify
the city which has maximum annua’ ¢ fent 4" % of SO, and NO,. Find passible reasons for it.
Also mention the permissible level of 1 381 878
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